Estimate base on Function Points

Assume:


10 inputs: 4 hard, 3, average, 3 easy


 8 reports: 5 hard, 3 easy


 4 queries: all easy


 2 files: both average


Productivity is 6 FP/pm

Calculate Function points:






Inputs:   4 x 6 = 24 (hard)



  3 x 4 = 12 (average)



  3 x 3 =   9 (easy)




  43


Reports: 5 x 7 = 35 (hard)



  3 x 4 = 12 (easy)




  47


Queries: 4 x 3 = 12 (easy)

Files:      2 x 10 = 20 (average)

Total Function Points =  122
Complexity Factors:


Backup and Recovery 



4


Data Communications



2


Distributed Processing 



0


Performance Critical



4


Existing Operating Environment


3


On-line data Entry




4


Input Transaction/ multiple Screens

5


Master files updated on line



3


Information domain values complex

5




Internal processing complex


5


Code designed for reuse



4


Conversion/installation in design


3


Multiple installations



5


Application designed for change


5


TOTAL

          

        52


Total Function Points = 122 x (.65 + .01 x 52) =  142.7

Estimated Effort is Total Function Points / Productivity / people available

Estimated effort is 142.7 / 6 / 4  = 5.9 months


